
lighting equipment and accessories

www.impactstudiolighting.com

impact
PT-100

Posing Table
ASSEMBLY INSTRUCTIONS

Parts List
1 – tabletop
1 – 3/8˝ x 1˝ hex head screw
2 – 1/8˝ x 3/8˝ screws
1 – mounting bracket
4 – 1/4˝ x 1/2˝ screws
1 – pneumatic cylinder
1 – locking knob
1 – pedestal base
5 – casters (or glides)

tabletop

mounting
bracket

3/8˝ hex head
screw and
two 1/8˝ x 3/8˝
screws

four screws,
1/4˝ x 1/2˝

pneumatic
cylinder

locking
knob

pedestal
base

casters (5)

Step One
Remove all the parts from the carton and make 
certain you have all the items in the parts list 
above and in the correct quantity.

Step Two
Insert the casters (glides) into the pedestal base. 
Be sure all casters are inserted securely.

Step Three
Attach the mounting bracket to the pneumatic 
cylinder using the 3/8˝ hex head screw and the 
two 1/8˝ x 3/8˝ screws. Firmly tighten all screws.

Step Four
Using the four 1/4˝ screws, fix the mounting 
bracket to the table top. Tighten all four screws 
securely.

Step Five
Push the pneumatic cylinder down onto the 
pedestal base until it is secure.

Step Six
Adjust the table top to your desired height and 
tighten the locking knob.

Make certain all screws are tightened fully before 
using this posing table.

www.impactstudiolighting.com
www.impactstudiolighting.com

